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am A :
(i) 3FGIHT-77 4 FT 37 Fe7 & | @t 397 31 & |

I8 o797 B: GUS] 7 [d9ifad & — GUs-a&, @Ue-W, GUs-7, GUs-5, GUS-F 3N
Gug- |

(ii) GUE— &4 J97 G&T 1 & 20 TF Fglashedid 394 8 | 5% J97 1 3% H1 3 |

(iit) TUE— @ 7 F97 &1 21 T 24 TF 3ld TG-I707 57 & | F9%F Fo7 2 HH & & |
eI J97 1 I 40 F1g] @ 3716 &7 787 8177 T30 |/

(iv) @UE— 7T J97 G125 T 29 @% T FTIT-F97 & | J% Jo7 3 IFH1 & & | T4%
Y97 H1 IR 60 =51 G 371er% H7 787 &7 1130 |

(v) @UE— 1 397 G&IT 30 G 33 TF 159 I09 J97 & | J9F J97 5 3l & 8 | 9%
Y7 &7 3 120 JsG] @ 3718 %7 787 51471 F13T |

(vi) TIS— T H 597 g7 34 @ 36 7% G ITERT & | 9% J97 & T 3-8 I9977 8 /
YIF G744 HH F 3 |

(vii) @UE— o 8§97 G&I7 37 HIHIET JTENRT 8 | T8 594 5 351 & 837 (a) (5le@ G2
%) 3R 37 (b) (YT & 3 37%) /|

(viil) 3G Fo7-97 § GHIEY G [dhcq &1 JIae 781 & | 57 41 3959971 7 fadbeq &1 JrasrT
& | 04 Y91 § 8 acT Uk [dhed1g 397 &7 I [ora 1 8 |

(ix) 3% AR JF GUE 3N J97 @ F19 T&T 4 T99% &, §9% & 1465 12T 10 & |
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General Instructions :

(@)

(1)

(iii)

(i)

(v)

(v)

Question paper contains 37 questions. All questions are compulsory.

Question paper comprises six Sections— A, B, C, D, E and F.
Section A — Question Nos. 1 to 20 are MCQs of 1 mark each.

Section B - Question Nos. 21 to 24 are Very Short Answer Type
Questions, carrying 2 marks each. Answer to each question should not

exceed 40 words.

Section C — Question Nos. 25 to 29 are Short Answer Type Questions,
carrying 3 marks each. Answer to each question should not exceed 60

words.

Section D — Question Nos. 30 to 33 are Long Answer Type Questions,
carrying 5 marks each. Answer to each question should not exceed 120

words.

Section E — Question Nos. from 34 to 36 are Case Based Questions with

three sub questions and are of 4 marks each.

(vit) Section F — Question no. 37 is Map based, carrying 5§ marks with two

parts, 37(a) from History (2 marks) and 37(b) from Geography

(3 marks).

(viii) There is no overall choice in the question paper. However, an internal

(i)

32/1/1

choice has been provided in a few questions. Only one of the choices in

such questions have to be attempted.

In addition to this, separate instructions are given with each section and

question, wherever necessary.
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WUE - % (20 x 1 = 20)
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1. S & w9 $i FAfofiga faeivdst &1 396 m7ew & 9 fiem fifve st a8
Terereg =1 == Fifso

g A
a. g@%g‘émﬁ? I. El'gﬂgﬁ
b. SN-BY HaE II.  Hebreel i
c. FHA Uil 1 AT 1. =it
d. qoER IV. e faemn
forrea :

a b c d
A I I III IV
B) Iv III 1 1I
© I 1 IV III
(D) I 1v 1I I

2. TAfafgd 9 @ F 91 9ge] . AR, TEgHt 3R 5.9, THRETH! T & oi@H H I0H
o ?

(A) O H ST -oqaee W oig forar |

(B) Hf&eTaTi & 31¥al W I ST |

(C) @ieapfoeh fortrad o SR H SRTEShdT @M |

(D) R ol ITeh! T Taderdl < fere Uit & |

3. fmfafga @ & foram wra 0 vaat rer 3R g@ara 32 <At =TT Rl 7
(A) <.3REL. e

(B) U&SITH g
(C) 3. =&

ElEa

D)
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(Multi)

1. Match the following

significance and choose



4. ﬁﬁ%ﬁﬁﬁﬂﬂﬂ%ﬁﬁﬂﬁ@ﬁ@ﬁ%ﬁqaﬁiaﬁﬁwwwaﬁm:
I Sied 950 TrceH | 3T=aiga ggTehly <hl TToT |
II. < wifwat 3 fim Tgl & i feda favagg fser |
1. R fAmiar &0 ®IE 3, Scdted o foiu  sr@verett A Tgfd’ i S9[ |
IV. ufgedt srefeqawenaii 3 @e & ‘G-77 T8’ & ¥4 H "nfed forar |
ferepeu :
(A) III, II, I 3R IV
(B) I, II, III 3 IV
(C) IV, III II 3R

(D) IV, II, III 3R 1

D)
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5. frafafiaa el 6 ggrrdar @ o 6 ugaH $ifse 31t ad) fered 1 ==  Fifse

7% gEl TaE el 3T 6l BE # |
T2 T I HEA 2 |

38 I o foTu 38 Hiem 3R ush & for2t fiaeft g9 bt sravashar it 2 |

5% T 50 T 75 cm ST 91 sl 3TEvaRdT &1 2 |

ferepeu :
@A) T

(B) weRi

(C) =&

D)

32/1/1
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Arrange the following in chronological order and choose the correct option :

I. The Bretton Woods conference established the International

Monetary Fund.
II. The Second World War broke out between the Axis and Allied

groups.

ITII. A car manufacturer Henry Ford adopted the ‘Assembly Line Method’

for production.

IV. The Western economies organized themselves as a group — ‘The
Group of 77".

Options :

A) IILIL IandIV
(B) L II IIIandIV
(C) IV,III, IIandI
(D) IV,II, I andlI

5.  Identify the crop with the help of the following information and choose the

correct option.

. This is the second most important Cereal Crop.
. This is a Rabi crop.

. It requires a cool growing season and bright sunshine at the

time of ripening.

. It requires 50 to 75 cm annual rainfall.

Options :

(A)
(B)
(©)
(D)

32/1/1

Wheat
Maize
Rice

Sugarcane

> o



6‘ ﬁmﬁﬁan@%ﬁﬁ%mﬁwﬁa@aﬁ%?
(&) afierrg
(B) A
(C) 3Ty e
(D) HACH

7. Trafafeadasm @ ymgafaa @ 7 1
(A) SGYE - T H A
(B) wrefigel  — fewmer &=
(©) Thgq  — diwe =
(D) TRUTEHE — Teereld &

8. TrafaiRaa guni @ & fopaehl =1 o v GwTfad o1’ |aigeh g ? 1
(A) T
(B) sTeticn
(C) Yrd

(D) uTfeREd™
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9. Frferiaa deari § & i w1 wia § TR Heit sfens IueTed a1 2 7
(&) T wifersh i
(B) Hife 3mm
(C) g e
(D) Ik E&T AR

6  In which of the following States Tungabhadra Dam is located ?
(A) Tamil Nadu
(B) Kerala
(C) Andhra Pradesh
(D) Karnataka

7.  Which of the following pair is correctly matched ?

(A) Alluvial Soil —  Gangetic Plain
(B) Black Soil - Himalayan Region
(C) Arid Soil —  Western Ghats

(D) Laterite Soil

Desert Area

8.  Which of the following countries has the highest ‘Life Expectancy’ at the

birth ?
(A) Nepal (B) Bangladesh
(C) India (D) Pakistan

32/1/1 <> E%,E



9.  Which one of the following organization is providing data regarding

employment in India ?

(A) National Statistical Office
(B) Niti Ayog

(C) National Informatics Centre

(D) Public Service Commission

32/1/1 <> E%,E P.T.O.



10. TfIREA § § SIF W1 SgUE HUHT o T8 TF W AT 8, S 98 U LI H1 6
T T TS T T HIAl 8 7

(A) FEUEE U, T HUHI o H1 TFTH Tehei b TS B 2 |
(B) SEUEE Hul Icared o Wil HHGel 3T Hmd g el 2 |
(C) SEUEE Ul 79t Teermrd Aifa i T St & T TTEn w2 |

(D) <EUEE ot wTig Hufiai % w3 3 aiEriis deu s 2 |

11. fr=fafad 49 wF @ Jergafaa g ¢
(A) U &3 — "I
B) fgdas g — gl

(C) qflweh &mh  —  Tredl gt
(D) =qdes &% — Heft

D)
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12. AW <fifyw f6 v &7 4 9 qf@r g 37 g9<ht @ifass 3@ 10,000, T 20,000,
% 30,000 3T T 40,000 & 41 & Y 3ea 317 fopai anft ? fm A a adt feper gfg ;. 1

(A) 25,000
(B) % 30,000
(C) 20,000

< 10,000

0
10. Which one of the following is a major benefit to an MNC when it works on

joint production with a local company ? 1
(A) MNC shares its latest technology with the local company.

(B) MNC decides all parameters and prices of the product.

(C) MNC shares its institutional policy with local company.

(D) MNC built good and familial relations with the local company.

11. Which one of the following pair is correctly matched ? 1
(A) Primary Sector - Fishermen
(B) Secondary Sector - Priest
(C) Tertiary Sector - Basket Weaver
(D) Quaternary Sector — Gardener

32/1/1 {1 > E%,E P.T.O.



12. Assume there are four families in a locality. If the monthly income of each
family 1s ¥ 10,000, ¥ 20,000, ¥ 30,000 and ¥ 40,000, then what is the
average income of the locality ? Choose the correct option from the

following :

(A) 25,000
(B) % 30,000
(C) % 20,000

(D) % 10,000

1
3 FHAITHFHAAHFA FHA 2 | TR ETa q@a F I H I IH FLA 2 | 9d9 &
AT IH TR gRI i Frami & e giaamd fiedt & |

il fferfga o & fopa 9w d w2 7
(A) wnfed &
(B) 3TETfEq &
(C) i &eeh
(D) =ges &=

14. Ty=faigd @ 9 %5 |1 5701 1 iu=Ties gid 8 ?
(A) Tder
(B) =

(C) HEHR
(D) HEHK il

©)
D)

32/1/1 {1 > E%,E



15. &1 % seanr W F=falad weumt w famm Fifse 31 w2t foepew =1 =9@ 6ifse
I. 9% Sehad ! HTgd LT 2 |
II. o8 "I THE! % ot God &1 %o Hd 2 |
II1. 38 Tifaeh feera st giafead s 2 |
IV. I8 el & o amiferes — i e emar 2 |
fererea
(A) I, 11 3R III
(B) IIL I SR IV
I, 111 3R IV

I, II 3T IV
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3" Kanta works in an office. She gets her salary regularly at the end of every
month. In addition to the salary, she also gets other benefits laid down by
the government.
In which of the following sector Kanta is working ? 1
(A) Organised Sector
(B) Unorganised Sector
(C) Primary Sector
(D) Quaternary Sector

14. Which one of the following is a formal source of credit ? 1
(A) Relative
(B) Trader

(C) Money lender
(D) Cooperative Society

(©)
D)

32/1/1 {1 > E%,E P.T.O.



1.
15. Consider the following statements on Power Sharing and choose the
correct option : 1

I. It deepens democracy.
II. It helps to reduce conflicts among social groups.
III. It 1s a way to ensure political stability.
IV. It brings socio-economic struggles.
Options :
(A) I II and III
(B) TII, III and IV
[, IIT and IV

I, II and IV

6 :ﬁ%aﬁw,mmm)aﬁxw(m%m%lesﬁﬁw%mﬂwﬁﬁwaﬂ
EREEAIEE 1
TR (A) @ AT Tl i AT R |
HROT (R) : TS THIfereh ARTTEHT o1 fored® &td 2 |
Terenea :

(A) (A) 3R (R) 3HT =& & 3 (R), (A) F @i =T 2 |
(B) (A) 3 (R) Tl 5&l &, Wa (R), (A) I H& e 781 2 |
(C) (A) Wl &, &iferd (R) T 2 |

(D) (R) 7TeTd &, iferd (A) W&l & |

D)
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1.
17. FH-A 3T w@¥-B &1 fiema i 31t 98 faemes =1 == i

wWa-A w9 -B

(ferran) (g=h/ ferem)
I 1. wedi g
. 3w 2. wAHH
. feemE 3. USAHH
V. A HRER 4 AN e

ferepe

A 4 3 1 2

B 3 4 1 2

©)
D)
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6 Two statements are given below as Assertion (A) and Reason (R). Read

the Statements and choose the correct option :

Assertion (A) : Elections are the spirit of democracy.

Reason (R) : Elections expand Political participation.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is the not correct explanation of (A).
(C) (A)is true, but (R) is false.

(D) (A) 1s false, but (R) 1s true.

D)

32/1/1 {1 > E%,E P.T.O.



1.
17 Match Column — A with Column — B and choose the correct option :

Column - A Column - B
(Subjects) (List/Subjects)
I.  Defence 1 Concurrent List
II. Police 2 Union List
III. Marriage 3. State List
IV. Computer Software 4. Residuary Subjects
Options :
I IT I11 IV
(A) 4 3 1 2
B) 3 4 1 2
©) 4 1 3 2
2 3 1 4
5
(©)
D)

32/1/1 {1 > E%,E



18. frmferfaa @ & i o1 THIei favd § TR 1 qad b g €98 ? 1
(A) I §THR
(B) HayTie TSldA
(C) = E&HR
(D) kil THI

19. = g suA, A (A) 3R R (R) feu mw @ | wuai 1 ufew 3 a8 faseq =

F7H I : 1

afirRed (A) : g o faftm fewmi § wigemd @mfed 83 3Tk @am TR & forg stieier
fopa |

&R0 (R)  : AfEeN3Ti & el i 3838 safhiTd 30 qiamiies sfaq | Wt guar om
21

fermea :

(A) (A) 30 (R) gl w2l & 3 (R), (A) 1 & e 2 |
(B) (A) 3T (R) GH1 521 §, W (R), (A) I H&t sAmen 761 2 |
(C) (A) @&l 2, wiferd (R) TeAq & |

(D) (A) e &, eifer (R) HEl € |

20. Tr=fRad 5 & I |1 AT AT HA o FEed T8 8 ? 1
A) foamg
(B) TIIE &1
(C) foraa
D) fo=
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18. Which one of the following is the most popular form of government in the
contemporary world ?

(A) Dictatorial Government
(B) Constitutional Monarchy
(C) Military Government

(D) Democratic Government

19. Two statements are given below as Assertion (A) and Reason (R). Read

the statements and choose the appropriate option :

Assertion (A) : Women in different parts of the World organized
themselves and agitated for equal rights.

Reason (R) : Women’s movement aimed at equality in personal and
family life as well.

Options :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is the not correct explanation of (A).
(C) (A)1s true, but (R) is false.

(D) (A) 1s false, but (R) 1s true.

20. Which one of the following matters do NOT deal with the ‘Family Laws’ ?

(A) Marriage
(B) Adoption
(C) Inheritance

(D) Finance

32/1/1 {1 > E%,E



21.

22.

23.

24.

25.

7
Qg -@ (4x2=8)

(erfa erg-3wri weA)

(a) U9 H FATETG hl TSI S o &9 H STEAT HilT | 2

AU

(b) 1848 T WIH % Wigeh AP o TUHI sl TG 3TN ATHINS T & Hed |

RAT I | 2
Aot Y Y Fepgl &1 Fersiranati o1 oot Hifv | 1x2=2
Toregl &1 TTarUTl <hY ST ShITSTT St W o1 Teh YH e T 14 2 | 1x2=2

o1 shifste fo 319 o a2 | foredi g wifafafermt s geme <ifse st smaest onmar 8

Tor TTentEET <A1 31 e % foe foee S =R | 2
Qug - T (5bx3=15)
(FTg-3Ta W)
19 TATeE! o GRIF WA § 91fifeh IR T Y07 HERd oh TWTE] hl STEAT HIT | 3
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26. AT WA 3 gl 32 i ford Tehr Tl foha 2 7 wom Hifw | 1x3=3

8
SECTION -B
(Very Short Answer Type Questions) (4x2=28)
21. (a) Explain Romanticism as a cultural movement in Europe. 2
OR

(b) Explain Frederic Sarrieu’s dream in the context of democratic and

social republics in France during 1848. 2
22. Mention any two features of Plantation agriculture. 1x2=2
23. Explain any two provisions that make India a secular state. 1x2=2

24. Imagine that you are the village Head. Suggest any two activities that you

think should be taken up to increase the income of the villagers. 2
SECTION - C
(Short Answer Type Questions) (5x3=15)

25. Explain the implication of print culture on the religious reforms in India

during 19th century. 3

32/1/1 {1 > E%,E



26. How has Information Technology affected Electronic Industry ? Explain.

1x3=3

32/1/1 {1 > E%,E P.T.O.



27 “ferebra 1 ureofiadt % W W gl ud e ol Wik s 0w 384 § | Serm

Hfga samre Hifsu | 3
28. TIfceh et o foreg! 9 w1 <hl =amean shifa | 1x3=3
29. (a) ™ frod a6 & fopel ot et o6t Trm hifStw | 3

S OC|
(b) AT & TR Sl TS g1 o HaY H ofehi <Al Yfireht T ST i | 3
Qg - (4 x 5=20)
(e -3T weA)

30. (a) W shi 3T 3T Troifaeh feufa o werw foava Ig & wrdt &1 ety hifsw | 5
AU

(b) 19wt % e § wra H yare  faehm ¥ Arehehenat 3T ydieni 6t yftrert 1
fergetwo hifsw | 5
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31. (a) ‘HEW YTEEd % Hiad A T 8q 1@ Sl § | 39 U I ATEE 3EUsd | 5
Froran

(b) “Hesh UREsd i@ uRaed i 3e 3ifoe GiagreHe 8 |7 38 HYF &I ARETd
3EE | 5

27  ‘The question of sustainability of development raises many fundamentally

new issues about the nature and process of development.” Explain it with

examples. 3

28. Explain any three functions of Political Party. 1x3=3

29. (a) Explain any three functions of the Reserve Bank of India. 3
OR

(b) Explain the role of banks with regard to money which they accept
from the public. 3

SECTION -D

(Long Answer Type Questions) (4 x 5=20)

32/1/1 {2 > E‘%,E P.T.O.



30. (a) Analyse the implications of First World War on the economic and

Political situation of India.
OR

(b) Analyse the role of folklore and symbols in the revival of nationalism

in India during late 19th century.

31. (a) ‘Efficient means of Transport are pre-requisite for fast development.’

Justify the statement.

OR

(b) ‘Roadways have an edge over Railways.” Justify the statement.

32 (a) ‘@gﬁmﬁ@ﬁa%ﬁaﬂ%m%wﬁ?% " 39 S ! IgTE dfed gy
HIT |

AUl

(b) “cArehaa gt grrforer-anfefes 3t Teifae TrEat &1 gua™ X Gehar 8 |
Tehl |fed 39 S 1 g Fifdu |

33. (a) YNA ¥ AveTeRioT & IHTE o1 fageryor ST |
FHora

(b)  Seefiertor kT forsaet s o adieni o1 fergeryor Hiferg |

T E - F B x4=12)
(SRE STeniE ue)
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34. feuwTu Ea w1 ufeu it 35 9 feu gl w1 3 fafew
TGl & foru aTeR

U YT Je1 A 1 Ush adiehl fagmodi <1 2 | S b 319 S 2, fagmom fafy=
IATE] ol STEL TR ST &1 <d & | o S <hl HiE gl ¢d 8 3T T SEd 9e1 o
<4 8 | 319 8W U UHl gfen | B Ef IRl atk fosd B ge & | arEen, gt
giIfém, <A, defifasa & e W, ¥ g fasma ® ge 8 | @ifer ovr gn sfaem o
8 geRt <€ ot udT =eran 2 o sftemfier Y swand @ & fommaet 7 fafim e %
TSR %1 et 8 37 ek T2t 3uvieht Heepfer o | 31t yyftreer s 2 |

T Bl o JTRTIGAT 4 YRA H HUST s=-1 IE (a1 1 d HUS o G8dl W oiadd
o | A B HIEET T8 BT AT fob WHGRT bl 91 T T o IcdTed hl T8 Il =t STt
off | diad g =i I e 1 Uk ot o1 | 9 fREl dee W A 31gl H HE
Tereey foran fe@ms e o wiier! i e @lie 1 forel atg =i < & @ar o |

(34.1) TS gRT YRA | STt &1 fasma= fohm W ek tram o 2
(34.2) AT YA o A Ta=TaAT & W1eem 9 U 39HTHT Hd 54 7
(34.3) FTENTiieRToT o SIUH Tt o Hream & feu U gewr hi s e St | 2

2
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2 (a) “There is an overwhelming support for the idea of democracy all over

the world.” Support the statement with examples. 5

OR
(b) “Democracy can address all socio-economic and political problems.”

Support the statement with arguments. 5

33. (a) Analyse the impact of globalization in India. 5
OR

(b) Analyse the ways to make globalization fair. 5

SECTION - E
(Case Based Questions) Bx4=12)
34. Read the given case and answer the questions that follow : 4

Market for Goods

One way in which new consumers are created i1s through
advertisements. As you know, advertisements make products appear
desirable and necessary. They try to shape the minds of people and create
new needs. Today we live in a world where advertisements surround us.
They appear in newspapers, magazines, hoardings, street walls, television
screens. But if we look back into history, we find that from the very
beginning of the industrial age, advertisements have played a part in
expanding the markets for products, and in shaping a new consumer
culture. When Manchester industrialists began selling cloth in India, they
put labels on the cloth bundles. The label was needed to make the place of
manufacture and the name of the company familiar to the buyer. The
label was also to be a mark of quality. When buyers saw ‘MADE IN
MANCHESTER’ written in bold on the label, they were expected to feel
confident about buying the cloth.
(34.1) How was the marketing of goods done in India by the British ? 1

(34.2) How were the new consumers created through advertisement
during colonial India ? 1
(34.3) Identify the messages conveyed through advertisements during

industrialization. 2
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35. feuTu B i feu 3T 39es = feu e ol o 3 ferfaw
Ftl GHEIEAT ST FEUT
anfefer foehmd o foTe Sl weh MU 3TTavTehdT 8 | UE STAIaET o Yoo Heed —
$fY, ITM, 9iEE, I 3 9l AEvEhas 6 gfd % fou el % fem @
FEHAT 7 | TAar-TH o gvad et snfie faswm St asmne w1 = wH

< ToTu 3Tl <61 St AT o1 SATTwIhdT o | Ferea®d gL ¥ H a1l o HHI ThRI 1 ST
- ¢l g w1 2 |

39 YR | Sl & foeh@ o Ted qrauie wnt & faesfaa s 6t gla savaskd
B | Sl T hl AT 3T TfeRTofi STt HHIEAT T S@al YT Fad qrevfi e & &t
FURE |

FaHH H YR fava & steudn SHtes ¢un § T Siar 2 | g6 et o Ffid geneHi
o ATIETA ST o FTu Fraegqul 3Ummg 1aamn g | Seretoned U SAHTEeh AT &
w9 H gH Irarrd o fore it argd <t 31der gredsies 98 1 39EIT ek, " YA A 8l
@ & @ faselt s o faga g=d FE aret 3T % YA 8 991 W-TRaie et
HIEE1 S T 8 BH 39T BIE AREH € Hehd 8 | HATRIERR ‘Tl hl oad & el Ieare
2

(35.1) Had Uiy Hal Gad faem Al Hel :i g 7

(35.2) T URA H Sl o1 @Ud R G &2 7

(35.3)  “STl bl S Bl Holl b1 3cdTed 2 |7 T8 i |
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5 Read the given case and answer the questions that follow :
CONSERVATION OF ENERGY RESOURCES

Energy is a basic requirement for economic development. Every sector of
the national economy — agriculture, industry, transport, commercial and
domestic — needs inputs of energy. The economic development plans
implemented since independence necessarily required increasing amounts
of energy to remain operational. As a result, consumption of energy in all
forms has been steadily rising all over the country. In this background,
there 1s an wurgent need to develop a sustainable path of energy
development. Promotion of energy conservation and increased use of
renewable energy sources are the twin planks of sustainable energy. India
is presently one of the least energy efficient countries in the world. We
have to adopt a cautious approach for the judicious use of our limited
energy resources. For example, as concerned citizens we can do our bit by
using public transport systems instead of individual vehicles; switching
off electricity when not in use, using power-saving devices and using non-

conventional sources of energy. At last “Energy Saved is energy produced”
(35.1) Why 1s sustainable energy a key to sustainable development ?
(35.2) Why 1s consumption of energy rising in all over India?

(35.3) Explain ‘Energy saved is energy produced’.
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3 .
6 feuw T EE i ufeu 37t 3Hes = feu v EE At @5 3 fofau 4
WRA | fererentn
g e 3TN T<T THR ¥ NiHAT okt T TR b1 €1 STl & df 36 Bl 61
farchgientor wed & | fachdisntor o @ gfaardt @ a8 8 fh 3 gei i smensii
froern T TR W g afear & ° 8 FhdT 2 | SN Sl 379 STk shi HHETST shi
SER U Bidl 2 | AT <61 35 91d <hl off 3=t ST Bt 8 T T el @ foran S
3 =Tt o1 37k SpuTeTaT ® IUAI foRw atE foRe ST dehdT 2 | SHeh STeTET T i
AN Bl HHAt 7 g yrfier s9n o 999 8 a1 8 | 35 SlhdiEes drier! i

F1Ed Ted! & | TATFR SRR ohl TATIT -8 o Sllehdiieh [HgId ol arediaeh s
1 g9 3731 qllh1 2 |

fereshgtentur <l steta gAR Gfaee | oft Titerr <kl 718 | 39 91 9 79 37 I8 6
T AT o foehgiehtor it 8 whifdmi 25 8 | At U=l | e o TR W A d=Ra) 37
&0 H TRAereRt3Tt sl TAT9HT bl 718 oft | W 3= Uy WhRl o HiY fAeEer O wan mn
o |
(36.1) ieha ® ‘Tashegiehtor =l T8 HIfS | 1
(36.2) <hdd | TR T -3IMHA & Hawd i TI8 T | 1

(36.3) forehgientur o foTu W TR gR1 33T T fehdi Gl SUR hTavH hIfse | 1x 2=2
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Qg -= 2+3=5)
(At snenfa awA)

37. (a) YHd o feu mu gsHifos T@r-amfaa w e wH (A) 3 (B) & ®9 § 3Afhd feu
TR | € TS BRI hl HEAl H 3= T8I 3R 3 I8 Gidl T8 @3 ™
3 Tal a fefaw |

(A) T8 T &1 IR TP Hi 1 31faye fidst 1920 9 g3man |

(B) 98 T Sal Haredt el 3 9ok S drer o |

6
6 Read the given extract and answer all questions :
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DECENTRALISATION IN INDIA

When power i1s taken away from Central and State governments and
given to local government, it is called decentralization. The basic idea
behind decentralization is that there are a large number of problems and
issues which are best settled at the local level. People have better
knowledge of problems in their localities. They also have better ideas on
where to spend money and how to manage things more efficiently.
Besides, at the local level it is possible for the people to directly
participate in decision making. This helps to inculcate a habit of
democratic participation. Local government is the best way to realise one
important principle of democracy, namely local self-government.

The need for decentralisation was recognized in our Constitution.
Since then, there have been several attempts to decentralize power to the
level of villages and towns. Panchayats in villages and municipalities in
urban areas were set up in all the States. But these were directly under
the control of State Governments. Elections to these local governments
were not held regularly.

(36.1) Explain Decentralization in democracy. 1
(36.2) Explain the importance of Local self Government in democracy. 1

(36.3) Describe any two steps taken by Indian government for

decentralization. 1x2=2

SECTION - F
(Map Based Questions) (2+3=05)

37. (a) Two places (A) and (B) have been marked on the given outline political
Map of India. Identify them with the help of given information and
write their correct names on the lines drawn near them : 2

(A) The place where the session of INC was held in September, 1920.
(B) The place where Mahatma Gandhi broke Salt Law.
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(b) 9 % 3 WaT-umfaE ) Fefafea 4 @ fh=t 9 =1 3 fugi 8 guisd 3
3o = ferfigu 3

@) Erpesaig
(ii) ARG TLHT] E
(iii) YU HiFee oIt UTeh

(iv) IR JH5 o

e : hact gremTiem wlentiE % fore uvA we 37 % A W E | (5 x1=5)
fepe2i uter Tt & 3T e

(37.1) 38 TST 1 AW feafaw &t it weie s o siieye fader, 1920 9 g3t e | 1
(37.2) I8 TSA 1 AW faRgy &l Mesi = F9h i qrel | 1
(37.3) 39 ¥ %1 AW feRae S&l weter 9y fera 2 | 1
(37.4) 39 TSH 1 W feARgu & TrRIg o] o7 fera 2 | 1
(37.5) 38 UST 1 A feAfay &l qor |fwed SoTatist uTeh ferd 2 | 1
(37.6) 39 U= 1 W feifgue Siat wrgia agl vaq fua 2 | 1
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(b) On the same outline Map of India, locate and label any THREE of
the following with suitable symbols : 3

(i) Hirakud Dam
(11) Tarapur Atomic Power Station
(111) Pune Software Technology Park

(iv) Paradip Sea Port

Note : The following questions are for Visually Impaired
Candidates only in Lieu of Q. No. 37. (bx1=5)

Attempt any five questions :

(37.1) Name the place where the session of INC was held in September,

1920. 1
(37.2) Name the state where Gandhiji broke Salt Law. 1
(37.3) Name the place where Salal Dam 1is located. 1
(37.4) Name the state where Tarapur Nuclear Plant is located. 1
(37.5) Name the state where Pune Software Technology park is located. 1
(37.6) Name the state where ‘Paradip’ Sea Port is located. 1
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